


Total population of a city is 9500, male
population is increased by 14.2% and
female population is increased by 17.7%
and total population of town becomes
11003. If out of total male population

15% are boys and out of total female
log\"s "13'{ ( X"f Upnpulatmn 18% are  girls. Find
3‘1% difference between numbers of boys and

N\
‘ l 0“3 girls.
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? ? A dealer makes a profit of x % of his
C - P

Iab ,00 4_.1 cost price when he sells goods. If dealer
could get his goods for 8% less. While

keeping his selling price fixed his profit

CSQ lm""x_ would be increase (x+10)% of his cost.

Find x.
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Q_oo Gaurav and Azad are running for class
president of the first 80% of the ballots

O
q A q A that are counted, Azad receives 53% of

the votes and Gaurav receives 47%. At
% \{2'1 Rs' least what percentage of the remaining
l : votes must Gaurav receives to catch up

to Azad in the election.
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Gaurav have 2 cartoons of eggs 20% of
the eggs in the first carton are red,
while 25% of the eggs in the seconds
carton are red, If the second carton has
3 times as many eggs the first. What
percentage of my eggs are red?
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If t is 25% of u, then what percent of 4t

is 2u?
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Gaurav is charged tax at the rate of P%
of first 28000 of annual income, plus (P
+ 2)% of any amount above 28000,
Gaurav noticed that the tax he paid
amounted to (P + 0.25)% of his income,
of then find the income of Gaurav.
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There are three varieties of milk Pure,
Cure and Lure, The Pure milk has 100%

milk. The ratio of milk to water in Cure
and Lure is 2:5 and 3:8 respectively.

Gaurave purchased 14”%{ é}? F:nd

22 Lure milk andzﬁ:ﬁenﬂni the
mixture is 50%. How many litre of Pure
milk does he need.
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(a) 6 litre (b) 8 litre

W 16 litr (d) 18 litre




W Every day a mango seller sells half of
\’ his stock, 10% of the stock overnight gets

qm—&@ spoiled, if 1322 mango rotted over three
J, nights then how many did he starts with
3‘@0 on the first day?
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The income of Amala is 20% more than
that of Bimala and 20% less than that of
Kamala. If Kamala’s income goes down by
4% and Bimala’s goes up by 10% then the
percentage by which Kamala’s income

would exceed Bimala’s is nearest to?
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Meena scores 40% in an examination and
after review, even though her score is
increased by 50% she fails by 35 marks. If
her post-review score is increased by 20%
she will have 7 marks more than the
passing score. The percentage score
needed for passing the examination is:

#Her v aRET # 40% TR FIAT ¢ 3T gaaT
& 91, o 8 3UFHT TR 50% 96 AT 8, 98
35 I&I ¥ Tl g A § I 3WHT IaX FHET
THR 20% T ¢, af 39+ 919 30T 35 & 7
3% #OF giorl aftem 3ol F & AT 3w

yfaad 3+ g?
ud] 70 (c) 75

(b) 80 (d) 60




For an examination of practical based
subject, the total marks are 1185.50 the
breakup for theory, practical, project and
viva are 40, 30%, 20% and 10%. A
candidate scored 80% in theory, 70% in
practical, 60% in project and 50% in viva.
What was her aggregate percentage?

‘T IFHT 40%, 0%, 20% IHR 10% B
UH IFAGaeT A LA 7 80% AfFewHa & 70%
Ysige A 60% 3 aEar # 50% &R fHam
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The respective ratio between the monthly
salaries of Rene and Som is 5:3. Out of her
monthly salary Rene gives 1/6'*" as rent,
1/5tt to her mother, 30% as her education
loan and keeps 25% aside for
miscellaneous expenditure remaining Rs.
5000 she keeps as savings. What is
monthly salary of som?

W 3R | A W HT FT Ie9Ta FAA 5:3
T 3ES ARAS daa A ¥ W 1/6 1 T &
& 1/5 I9«T AT F Sdf § 30% 8w 1 O

IR 25% TEHT @A ) a?
35”) uE gy hldyd
@u‘f Rs. 36000 (b) Rs.24000

(c) Rs.27000 (d) Rs.18000




What will come in place of question
mark? In the following questions?
88% of 175 + 6% of 600 = ?%

of 75+16% of 500 + 86
YU aTS eg #Y S9IE e & @ Sl ' 7

HTTT?
88% of 175 + 6% of 600 = ?% ?8',.3 \1.5

of 75 +16% of 500 + 86 —
(a) 30 (b) 17 WV} T‘»
c) 32 (d) 18




With reference to a number greater one
of the differences between itself and its
reciprocal is 25% of the sum of itself and
its reciprocal. By how much percentage
correct one decimal place is the fourth
power of the number greater than its
square?

UF ¥ 931 U6 HEdT & a9 # §&dr iR 394
qahA F d FT HAT & AR 30F A
& ANT FT 25% § TEAT AT °UTd IR & AT 3qH

¥ Fr 3w § qwrwa & oy
IF §7 S-\‘

(a) 66.7/ (b) 57.8 :
(c) 62.5 (d) 64.5 tt.} 7?.5







A salles executive gets 20% bonus of
the total sale value and 10% commission

TMW beside the boywl on the net profit after

chaq\ging such commissions. If the total

:MPW sales value be Rs.10 lakh per annum and

tal profit of the company be Rs. 1.32

en his total earning per annum will

Cown be. Given that he is not entitled to receive
fixgd salary from the company?
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A fruit vendor bought fruits in the bulk

5 W out of which 20% were rotten which he
throws away,of the remaining 75% was
sold and 50%’ of the has remaining he used

H—Ip'a S*d to make fruit juice. If the difference

between the number of fruits he used to
" make juice and a number of rotten fruits

is 48. Find the total number of fruits that

lender bought?
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The length of rectangle is increased by
23.67% and its breadth is increased by
21.89% which of the following can be
percentage increase in its perimeters?

I A Fo 23.67% 5 el § AR g Aar
P_QLL"_B)E._BE'“AEW%W###H?&
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(a) 21% ‘b) 22.78%
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A is 150% of B and B is 40% of C. if
A+B+C=20 Then the value of 2B+3C-4A is
equal to?

A, B & 150% ¢ 3R B, C #T 40% &, 3
A+B+C=20 § @ 2B+3C-4A & A A

HIfAT?
(a) 16 M7 14

(c) 20 (d) 15




N@"Fﬁw A shopper per increases the price of a

commodity by x% sometimes later, he

( | +l) reduces the new price by y% and notices
00 that the price is now the same as it was
[v0-4 =1l " 1 1
( 00 originally. The value of —-—1is:

y X
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An agent earns a commission of 3.5% on
first Rs.2.6 lakh, 2.4% on next 1.8 lakh
and 4% on the remaining amount of sales
made in a month. If the sales achieved by
the agent for the month of September
2020 are 6 lakhs. What is the commission
earned by the agent?

UH Tolc 9o 2.6 o™ 394 W 3.5% 39k 1.8
A" 9T 2.4% 3T T A #H &1 1 O i
A TR W 4% &1 FARE FAG ¢ I AT
2020 ¥ AR A Tslc @RI it f@dhr 6 o
g1 Tae ganT Afod HANRE F41 8?

Xa) 16520  (b) 21360 Q
JoF19820Q_  (d) 24640 .



